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S| B 2000 JE% 5000 JLA 15 ORIk
4 #5000 7T % 20000 TCEE A 20
5 3 20000 764 40000 TTHB4Y 25

4480—2000=2480 (7T) 2480=500+1500+480

500 X5%+1500 X 10%+480 X 15%=247 (jT)
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1 At 500 TEEL4y 5

2 #3500 J6E 2000 JLHEBAY 10

3 HE 2000 76E 5000 JCE 15

4 3L 5000 JGE 20000 JCH 5y

H #HiL 20000 7T.E 40000 TTHEB 25
HFAGR): 500X 5%=25 (IT) 1165—25—150—450=540 (IT)
#247]:  (2000—500) X10%=150 (7T) 540+20%=2700 (5T)

F3m5):  (5000—2000) X15%=450 (IT)
F44n5):  (20000—5000) X20%=3000 (IT)

5000+2700+2000=9700 (7T)







